DIM.

NO

(6" MAX./2” MIN.)

FLEXIBLE MEMBRANE

EXPANSION JOINT TRIM
TRI-BEAD, TAPE SFALER
[HW-504] EA. SIDE OF
FLEXIBLE MEMBRANE

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER

[FASTENER #1E] @ 24” O.C.

BATTENLOK HS PANEL:

FASTENERS

(FIELD CUT AND BEND
UP 2" LEG AS REQ'D)

NOTE:
LAP SECTIONS

REFERENCE TYPICAL TRIM

TRI-BEAD TAPE SEALER LHW*SOH

EA. SIDE OF FLEXIBLE M

EXPANSION JOINT CLEAT

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER

[FASTENER #1E] @ 24" 0.C.

BATTENLOK HS PANEL

(FIELD CUT AND BEND
UP 2" LEG AS REQ'D)

]

MBRANE

3/8"

LOW FLOATING CLIP
[HW-220]

BEARING PLATE
[HW-7500]

DECK SCREW @ 24" O.C./
(MIN. 3/4™ PENETRATION
INTO METAL DECK)

STRUCTURAL ANGLE
(NOT BY MBCI)

DECK SCREW (2) PER CUP
(MIN. 3/4" PENETRATION
NTO METAL DECK)

2 x 4 x 16 GA. ANGLE

LOW RAKE SUPPORT [HW-7712]

1/4-14 x 1 1/4 SHOULDER
TEK 2 SELF-DRILLER
[FASTENER #5] @ 24 0.C.
(CENTER IN SLOT)

\ RIGID INSULATION

(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(NOT BY MBCI)



NOTE:
REFERENCE TYPICAL TRIM p

LAP SECTIONS

FLEXIBLE MEMBRANE
SLIP JOINT TRIM

TRI-BEAD TAPE SEALER
[HW-504] EA. SIDE OF
FLEXIBLE MEMBRANE

DIM ‘ NO
(6" MAX./2" MIN.) FASTENERS
TRI-BEAD TAPE SEALER LHW%’)OH
EA. SIDE OF FLEXIBLE MEMBRANE

HIGH WIND PARAPET RAKE
CLEAT [F292]

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] @ 24” 0.C.

UP 2" LEG AS REQ'D)

BATTENLOK HS PANEL

LOW FLOATING CLIP
[HW-220]

BEARING PLATE
[HW=7500]

(FIELD CUT AND BEND

1/4-14 x 1 1/4 LONG-LIFE

SELF-DRILLER W/WASHER

[FASTENER #1E] @ 24” O.C.

BATTENLOK HS PANEL p

(FIELD CUT AND BEND =

UP 2" LEG AS REQD) J L
:%:f E%‘:

3/8"

DECK SCREW (2) PER CLIP
(MIN. 3/4” PENETRATION
NTO METAL DECK)

2 x 4 x 16 GA. ANGLE//(
DECK SCREW @ 24” O.C.

(MIN. 3/4” PENETRATION

INTO' METAL DECK)

\ LOW RAKE SUPPORT

[HW-7712]

1/4=14 x 1 1/4 SHOULDER
TEK 2 SELF-DRILLER
[FASTENER #5] @ 24" 0.C.
(CENTER IN SLOT)

\R\G\D INSULATION
(NOT BY MBCI)
VAPOR BARRIER
(NOT BY MBCI)
METAL DECK
(NOT BY MBCI)



B B B B R N

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER

FASTENER SPACING @ EAVE [FASTENER #1E]
BATTENLOK HS
PANEL
L
WAL PAN
WRiES W/ THICKNESS
v 1/4-14 x 1 1/4 LONG-LIFE 12
SELF-DRILLER W/WASHER —

[FASTENER #1E]

URETHANE TUBE SEALANT §5§ PER 16" PANEL
4

BETWEEN PANEL RIBS »
EAVE END PER 12" PANEL
OF PANEL URETHANE TUBE SEALANT
BETWEEN PANEL RIBS BATTENLOK HS PANEL

TRI-BEAD TAPE SEALER

EAVE SEALANT DETAIL
[HW-504]

URETHANE SEALANT MUST COME
IN CONTACT WITH TAPE SEALER

TO FORM A WEATHERTIGHT SEAL 1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 16" 0.C.

BOX PANEL CAP TRIM
[FL-272]

SCULPTURED EAVE TRIM
[FL-253]

1/8 x 3/16 POP RIVET

RIGID INSULATION

3 x 5" x 14 GA. BENT (NOT BY MBC])

[FAS’TEN"ER #14} PLATE (HOLD TOP OF VAPOR BARRIER
@ 5-0" 0C. PLATE 3/8" ABOVE TOP (NOT BY MBCI)
12-24 x 1 1/4 LONG-LIFE TEK 4.5 OF RIGID INSULATION) METAL DECK
W/WASHER [FASTENER #78] 1/8 x 3/8 POP RIVET (NOT BY MBCI)
1/4-14 x 7/8 LONG-LIFE LAPTEK [FASTENER #144A]

W/WASHER [FASTENER #4]@ 12" 0.C. @ 5-0" 0.C.

12-24 x 1 1/2 PAN HEAD
TEK 4.5 SELF-DRILLER
OUTSIDE CLOSURE——— [FASTENER #16]@ 12" O.C.

WALL PANEL ———————— STRUCTURAL ANGLE
(NOT BY MBCI)

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

0/0 DIMENSION
(SEE PLAN)




12

— N
—
—
— N

—

BATTENLOK HS
PANEL

LA —+

1/4=14 x 1 1/4 LONG-LIFE
FASTENER SPACING @ EAVE SELF-DRILLER W/WASHER
[FASTENER #1E]

URETHANE TUBE SEALANT
BETWEEN PANEL RIBS

EAVE END
OF PANEL
1/4=14 x 1 1/4 LONG-LIFE

EAVE SEALANT DETAIL séu>DRﬁ&R @/WMMER

[FASTENER #1E]

URETHANE SEALANT MUST COME §5§ PER 16 PANEL

IN' CONTACT WITH TAPE SEALER 4) PER 12" PANEL 12

TO FORM A WEATHERTIGHT SEAL URETHANE. TUBE SEALANT
BETWEEN PANEL RIBS BATTENLOK HS PANEL
TRI-BEAD TAPE SEALER
[HW-504]

GUTTER STRAP [FL-310]
@ 32" 0.C. MAX.

1/8 x 3/16 POP RIVET
[FASTENER #14]
(2) PER STRAP

BOX GUTTER [FL-308] ———————=

12-24 x 1 1/2 PAN HEAD
TEK 4.5 SELF-DRILLER
[FASTENER #16]@ 12" 0.C. (NOT BY MBC))

12-24 x 1 1/4 LONG-LIFE TEK 45— 3" x 5" x 14 GA. BENT
- VAPOR BARRIER
W/WASHER [FASTENER #78] N PLATE (HOLD TOP OF (NOT BY MEC)
PLATE 3/8" ABQVE TOP
OF RIGID INSULATION) ?AN%?LBEE%W

1/8 x 3/8 POP RIVET
o [FASTENER #14A]
WALL PANEL @ 5-0" 0.C.
STRUCTURAL ANGLE
(NOT BY MBCI)

RIGID INSULATION

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

0/0 DIMENSION
(SEE PLAN)




TRI-BEAD TAPE SEALER

[HW-504]

HIGH EAVE END
/ OF PANEL

HIGH EAVE SEALANT DETAIL

1/4=14 x 7/8 LONG-LIFE LAPTEK

W/WASHER gFASTENER #4%
(DO NOT INSTALL THRU P

@ 6" 0C.
NEL RIB)

TRI-BEAD TAPE SEALER [HW-504]

LOW FIXED EAVE PLATE
[HW-7600]

DECK SCREW @ 12" 0.C.
(MIN. 3/4" PENETRATION
INTO METAL DECK)

BATTENLOK HS
PANEL

8/¢

RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBC)

METAL DECK
(NOT BY MBCI)

STRUCTURAL ANGLE
(NOT BY MBCI)

1/4=14 x 1 1/4 LONG-LIFE
SELF-DRILLER W /WASHER
[FASTENER #1E]

6" PANEL
2" PANEL

4) PER

( 1
(3) PER 1

NOTE:

LAP SECTIONS

REFERENCE TYPICAL TRIM

e

0/0 DIMENSION
(SEE PLAN)

URETHANE TUBE SEALANT

@ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (1) PER RIB

OUTSIDE CLOSURE
/[wazmo} @ 16" PANEL

[HW—446] @ 12" PANEL
| TRI-BEAD TAPE SEALER [HW-504]
| . BOX HIGH SIDE EAVE TRIM [FL-331]

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 12" 0.C.

——QUTSIDE CLOSURE

12-24 x 1 1/4 LONG-LIFE TEK 4.5
W/WASHER [FASTENER #78]

~——WALL PANEL




1

TRI-BEAD TAPE SEALER
[HW-504]

HIGH EAVE END
OF PANEL

HIGH EAVE SEALANT DETAIL

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6" 0.C.
(DO NOT INSTALL THRU' PANEL RIB)

12 TRI-BEAD TAPE SEALER [HW-504]

SCULPTURED HIGH SIDE EAVE
TRIM [FL—265]

LOW FLOATING CLIP [HW-220]
BEARING PLATE [HW-7500]

3ATTENLOK HS PANEL

RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(NOT BY MBCI)

DECK SCREW (2) PER CLIP
(MIN. 3/4" PENETRATION
INTO METAL DECK)

STRUCTURAL ANGLE
(NOT BY MBC)

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

0/0 DIMENSION

URETHANE TUBE SEALANT

@ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

1/4=14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (1) PER RIB

2 x 2 x 16 GA. BACK-UP
ANGLE

SCULPTURED HIGH SIDE EAVE
TRIM [FL—265]

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6" 0.C.
(D0 NOT INSTALL THRU' PANEL RIB)

OUTSIDE CLOSURE
[HW—-440] @ 16" PANEL
[HW—446] @ 12" PANEL

BATTENLOK HS
PANEL

TRI-BEAD TAPE SEALER [HW—504]
TOP & BOTTOM OF CLOSURE

1/4=14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E]

(4) PER 16" PANEL

ALTERNATE DETAIL (3) PER 12" PANEL

URETHANE TUBE SEALANT

@ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS T0
SEAL ALL VOIDS

1/4=14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (1) PER RIB

OUTSIDE CLOSURE
[HW-440] @ 16" PANEL
[HW-448] @ 12" PANEL

BACKUP PLATE
[HW-7766] @ 16" PANEL
[HW-7764] @ 12" PANEL

TRI-BEAD TAPE SEALER
[HW-504]

1/4=14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E]

(4) PER 16” PANEL

(3) PER 12" PANEL

12-24 x 1 1/4 LONG-LIFE TEK 4.5
W/WASHER [FASTENER #78]

Py

s 1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 12” 0.C.

QUTSIDE CLOSURE

—— WALL PANEL

(SEE PLAN)



TRI-BEAD TAPE SEALER

FIELD SAWCUT

TRI-BEAD TAPE SEALER [HW-504]
/EA. SIDE OF FLEXIBLE MEMBRANE

14-10 x 2 DECK SCREW
/[FASTENER #209] @ 24" 0.C.

(PRE-DRILL HOLE)
_——FLEXIBLE MEMBRANE

URETHANE TUBE SEALANT
/@ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

1/4=14 x 1 1/4 LONG-LIFE

[HW-504] 0/0 DIMENSION
(SEE_ PLAN)
HIGH EAVE END
OF PANEL
MASONRY WALL (NOT BY MBC) —____|
URETHANE TUBE SEALANT
HIGH EAVE SEALANT DETAIL CONTINUOUS A
COUNTERFLASH [FL-341]
PARAPET HIGH EAVE TRIM [FL-275] #
1/4-14 x 7/8 LONG-LIFE LAPTEK i
W/WASHER [FASTENER #4]@ 6" 0.C. , )
(DO NOT INSTALL THRU" PANEL RIB) 1
TRI-BEAD TAPE SEALER [HW-504] J
1 ® TOP OF CLOSURE & TOP OF
— FLEXIBLE MEMBRANE
LOW FLOATING CLIP [HW~-220]

BATTENLOK HS
PANEL

8/¢

RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(NOT BY MBCI)

BEARING PLATE
[HW-7500]

SELF-DRILLER W /WASHER
[FASTENER #1E] (1) PER RIB

L —— OUTSIDE CLOSURE
[HW-440] @ 16" PANEL

[HW—-446] @ 12" PANEL

——— BACKUP PLATE
[HW-7766] @ 16" PANEL
[HW-7764] @ 12" PANEL

TRI-BEAD TAPE SEALER [HW-504]

~—1/4-14 x 5/8 LONG-LIFE
'TYPE B SELF-TAPPER
W/WASHER [FASTENER #46]
(4) PER 16” PANEL

(3) PER 12" PANEL

NOTE:
REFERENCE TYPICAL TRIM

DECK SCREW (2) PER CLIP
(MIN. 3/4" PENETRATION
INTO METAL DECK)

LAP SECTIONS




TRI-BEAD TAPE SEALER

[HW-504]

HIGH FAVE END
/ OF PANEL

HIGH EAVE SEALANT DETAIL

PARAPET HIGH EAVE TRIM [FL-276]

1/4=14 x 7/8 LONG-LIFE LAPTEK

W/WASHER [FASTENER #4]@ 6" 0.C. 7
(DO NOT INSTALL THRU PANEL RIB)

TRI-BEAD TAPE SEALER [HW-504] ’
12 @ TOP OF CLOSURE & TOP OF

FLEXIBLE MEMBRANE

LOW MID-SLOPE FIXED PLATE

[HW-7631]
BATTENLOK HS
PANEL

RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(NOT BY MBCI)

0/0 DIMENSION
(SEE PLAN)

/ FIELD SAWCUT

MASONRY WALL (NOT BY MBC\)\

7

URETHANE TUBE SEALANT
CONTINUOUS
14-10 x 2 DECK SCREW
COUNTERFLASH [FL-341] " [FASTENER #209] @ 24 0.C.
(PRE-DRILL HOLE)
Y FLEXIBLE MEMBRANE

TRI-BEAD TAPE SEALER [HW-504]
" EA. SIDE OF FLEXIBLE MgMBRANE

URETHANE TUBE SEALANT
/@ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

L _——1/4=14 x 1 1/4 LONG-LIFE

SELF-DRILLER W/WASHER
[FASTENER #1E] (1) PER RIB

| —— OUTSIDE CLOSURE

[HW—-440] @ 16" PANEL

d
N

[HW—-446] @ 12" PANEL

| TRI-BEAD TAPE SEALER [HW-504]
| T——1/4-14 x 1 1/4 LONG-LIFE

SELF—DRILLER W/WASHER

[FASTENER #1E]
(4) PER 16" PANEL
(3) PER 12" PANEL

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

DECK SCREW @ 12" 0.C.
(MIN. 3/4” PENETRATION
INTO METAL DECK)



TRI-BEAD TAPE SEALER

[HW-504]
HIGH EAVE END __0/0 DIVENSION__,
OF PANEL (SEE PLAN)

MASONRY WALL (NOT BY MBCI)———=
URETHANE TUBE SEALANT

FIELD SAWCUT
CONTINUOUS —
HIGH EAVE SEALANT DETAIL
COUNTERFLASH [FL-341] _TRI-BEAD TAPE SEALER
PARAPET HIGH FAVE TRIM L [HW-504]
i - ———14-10 x 2 DECK SCREW
PERFORATED VENT DRIP [FL-254] [FASTENER #209] @ 24" O.C.
1/4-14 x 7/8 LONG-LIFE LAPTEK (PRE-DRILL HOLE)
W/WASHER [FASTENER #4]@ 6” 0.C. .
(DO NOT INSTALL THRU PANEL RIB) 7 7 /URETHANE TUBE SFALANT
12 1/4-14 x 7/8 LONG-LIFE LAPTEK — @ CLOSURE ENDS/PANEL RIB
W/WASHER [FASTENER #4]@ 6" 0.C. & LAPPING CLOSURE TABS TO

SEAL ALL VOIDS
TRI-BEAD TAPE SEALER

E _—1/4=14 x 1 1/4 LONG-LFE
oo ‘ / SELF-DRILLER W/WASHER
LOW FLOATING CLIP [HW-220] ﬁ." ‘ [FASTENER #1E] (1) PER RIB

BATTENLOK HS BEARING PLATE | —— OUTSIDE CLOSURE

PANEL [HW-7500] [HW—=440] @ 16" PANEL
[HW-446] @ 127 PANEL

| BACKUP PLATE
[HW-7766] @ 16" PANEL
[HW-7764] @ 12" PANEL

TRI-BEAD TAPE SEALER [HW-504]

™—1/4-14 x 5/8 LONG-LIFE
"TYPE B' SELF-TAPPER
W/WASHER [FASTENER #46]
—— (4) PER 16" PANEL

J 5 ] (3) PER 12" PANEL

NOTE:
RIGID INSULATION DECK SCREW (2) PER CLIP J < REFERENCE TYPICAL TRIM
(NOT BY MBCI) (MIN. 3/4” PENETRATION LAP SECTIONS

VAPOR BARRIER INTO METAL DECK)

(NOT BY MBCI)

METAL DECK

(NOT BY MBCI)



TRI-BEAD TAPE SEALER

[HW-504]

HIGH EAVE END
OF PANEL

HIGH EAVE SEALANT DETAIL

SATTENLOK HS
PANEL

RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER

12
—

1/4=14 x 7/8 LONG-LIFE LAPTEK

W/WASHER [FASTENER #4]@ 6" 0.C.

(DO NOT INSTALL THRU PANEL RIB)
PARAPET HIGH EAVE TRIM
1/4=14 x 7/8 LONG-LIFE LAPTEK

W/WASHER [FASTENER #4]@ 6" 0.C.

METAL VENT MATERIAL [HW-525]

TRI-BEAD TAPE SEALER [HW-504]

LOW MID-SLOPE FIXED PLATE
[HW-7631]

(NOT BY MBCI)

METAL DECK

(NOT BY MBCI)

0/0 DIMENSION

(SEE PLAN)

MASONRY WALL (NOT BY MBCI) ———=

URETHANE TUBE SEALANT
CONTINUOUS

COUNTERFLASH [FL-341]————==

DECK SCREW @ 12" 0.C.
(MIN. 3/4” PENETRATION
INTO METAL DECK)

| — FIELD SAWCUT

- TRI-BEAD TAPE SEALER
[HW-504]

———14-10 x 2 DECK SCREW
[FASTENER #209] @ 24" 0.C.
(

PRE-DRILL HOLE)

URETHANE TUBE SEALANT
/@ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

1/4=14 x 1 1/4 LONG-LIFE
" SELF-DRILLER W/WASHER

[FASTENER #1E] (1) PER RIB

| —— QUTSIDE CLOSURE
[HW-440] @ 16" PANEL

[HW-446] @ 12" PANEL

[T———1/4-14 x 1 1/4 LONG-LIFE

SELF-DRILLER W/WASHER
[FASTENER #1E]

(4) PER 16" PANEL

(3) PER 12" PANEL

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

[~ TRI-BEAD TAPE SEALER [HW-504]



/s

TRI-BEAD TAPE SEALER
[HW-504]

HIP END
OF PANEL

TRI-BEAD TAPE SEALER
[HW-504]

LOW FLOATING CLIP
[HW-220]

BATTENLOK HS

PANEL

METAL DECK
(NOT BY MBCI)

DECK SCREW (2) PER CLIP
(MIN. 3/4" PENETRATION
INTO METAL DECK)

RIDGE/HIP TRIM
[FL-209]

2 x 2 x 16 GA. BACK-UP
ANGLE

8 x 5/8 NIBBED DRILLER
[FASTENER #24]
@ 4" 0.

TRI-BEAD TAPE SFALER [HW-504]
CONT. ACROSS PANEL

URETHANE TUBE SEALANT @
CLOSURE ENDS (1/4" BEAD MIN.)
1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6" 0.C.
(DO NOT INSTALL THRU PANEL RIB)
7EE CLOSURE [FL-361]

(FIELD CUT TO LENGTH &

BEVEL CUT TO FIT PANEL)

BEARING PLATE [HW-7500]
RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)



TRI-BEAD TAPE SEALER
[HW-504]

HIP END
OF PANEL

TRI-BEAD TAPE SEALER
[HW-504]

BATTENLOK HS
PANEL

DECK SCREW @ 12" 0.C.
(MIN. 3/4" PENETRATION
INTO METAL DECK)

1/4=14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] @ 6" 0.C.

TRI-BEAD TAPE SEALER [HW-504]
CONT. ACROSS PANEL

RIDGE/HIP SUPPORT PLATE
[P-145]

RIDGE/HIP TRIM [FL—209]

URETHANE TUBE SEALANT @
CLOSURE ENDS (1/4" BEAD MIN.)

1/4-14 x 7/8 LONG-LIFE LAPTEK

W/WASHER [FASTENER #4]@ 6" 0.C.

(DO NOT INSTALL THRU PANEL RIB)

ZEE CLOSURE [FL-361]
(FIELD CUT TO LENGTH &
BEVEL CUT TO FIT PANEL)

RIGID INSULATION  §
(NOT BY MBC) °®

VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(NOT BY MBCI)



TRI-BEAD TAPE SEALER
[HW-504]

RIDGE END
OF PANEL

12 TRI-BEAD TAPE SEALER
[HW-504]

LOW FLOATING CLIP
[HW-220]

BEARING PLATE
[HW-7500]

DECK SCREW (2) PER CUP
(MIN. 3/4” PENETRATION
INTO METAL DECK)

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

RIDGE TRIM
[FL-200]

BACKUP PLATE
[HW-7766] @ 16" PANEL
[HW-7764] @ 12" PANEL

1/4-14 x 5/8 LONG-LIFE
TYPE B SELF-TAPPER
W/WASHER [FASTENER #46]
(4) PER 16" PANEL

(3) PER 12" PANEL

TRI-BEAD TAPE SEALER [HW-504]
CONT. ACROSS PANFI

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (1) PER RIB

URETHANE TUBE SEALANT

@ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

1/4-14 x 7/8 LONG-LIFE LAPTEK "
W/WASHER [FASTENER #4]@ 6" O.C.

(DO NOT INSTALL THRU' PANEL RIB)

OUTSIDE CLOSURE

[HW-440] @ 16" PANEL

[HW-446] @ 12" PANEL BATTENLOK HS
PANEL

RIGID INSULATION
(NOT BY MBC)

VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(NOT BY MBC)



TRI-BEAD TAPE SEALER
[HW-504]

RIDGE END
OF PANEL

1/4-14 x 7/8 LONG-LIFE LAPTEK 9"

W/WASHER [FASTENER #4]@ 6" 0.C.
(DO NOT INSTALL THRU' PANEL RIB)

TRI-BEAD TAPE SEALER [HW-504]
i BATTENLOK HS PANEL

RIDGE/HIP SUPPORT
PLATE [P-145]

NOTE:
REFERENCE TYPICAL TRIM

DECK SCREW @ 12" 0.C: LAP SECTIONS

(MIN. 3/4” PENETRATION

INTO METAL DECK)

RIDGE TRIM
[FL-209]

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E]

(4) PER 16" PANEL

(3) PER 12 PANEL

TRI-BEAD TAPE SEALER [HW-504]
CONT. ACROSS PANEL

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (1) PER RIB

URETHANE TUBE SEALANT

@ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

OUTSIDE CLOSURE 12
[HW—-440] @ 16" PANEL
[HW—446] @ 12" PANEL

RIGID INSULATION 3
(NOT BY MBCI)  #

VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(NOT BY MBCI)



1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6” 0.C.
(DO NOT INSTALL THRU PANEL RIB)

TRI-BEAD TAPE SEALER
[HW-504]

PERFORATED VENT DRIP
[FL-254]
BATTENLOK HS PANEL

DECK SCREW @ 12" 0.C.
(MIN. 3/4" PENETRATION
INTO METAL DECK)

TRI-BEAD TAPE SEALER

[HW-504]

RIDGE END
OF PANEL

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

RIDGE TRIM
[FL-300]

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E]

(4) PER 16" PANEL

(3) PER 12" PANEL

TRI-BEAD TAPE SFALER [HW-504]
CONT. ACROSS PANEL

LOW MID—SLOPE FIXED PLATE
[HW-7631]

1/4-14 x 1 1/4 LONG-LIFE

SELF-DRILLER W/WASHER

[FASTENER #1E] (1) PER RIB

URETHANE TUBE SEALANT

@ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6" 0.C.

OUTSIDE CLOSURE
[HW-440] @ 16" PANEL
[HW-446] @ 12" PANEL

RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(NOT BY MBCI)




TRI-BEAD TAPE SEALER [HW-504]
12 1/4-14 x 7/8 LONG-LIFE LAPTEK

BEARING PLATE [HW-7500]

DECK SCREW (2) PER CLIP
(MIN. 3/4" PENETRATION
INTO METAL DECK)

9" MAX.

W/WASHER [FASTENER #4]@ 6 0.C.

PERFORATED VENT DRIP [FL-254]
LOW FLOATING CLIP [HW-220]

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

RIDGE TRIM
[FL-300]

1/4-14 x 5/8 LONG-LIFE

TYPE B SELF-TAPPER
W/WASHER [FASTENER #46]

(4) PER 16" PANEL

(3) PER 12" PANEL

TRI-BEAD TAPE SEALER [HW-504]
CONT. ACROSS PANEL

BACKUP PLATE

[HW-7766] @ 16" PANEL
[HW-7764] @ 12" PANEL

[HW-504]

RIDGE END
OF PANEL

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (1) PER RIB

URETHANE TUBE SEALANT

@ CLOSURE ENDS/PANEL RIB

& LAPPING CLOSURE TABS TO

SEAL ALL VOIDS

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER gFASTENER #41@ 6" 0.C.
(DO NOT INSTALL THRU" PANEL RIB)

OUTSIDE CLOSURE
[HW-440] @ 16" PANEL
[HW-446] @ 12" PANEL

RIGID INSULATION |
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(NOT BY MBCI)

TRI-BEAD TAPE SEALER

12
]

BATTENLOK HS
PANEL



0/0 DIMENSION

(SEE PLAN)

TRI-BEAD TAPE SEALER [HW-504]
1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6" 0.C.
TRI-BEAD TAPE SEALER

[HW-504]

HIGH WIND PARAPET RAKE
CLEAT [F292]

1/4-14 x 1 1/4 LONG-LIFE

UP TO 3 1/2°

LOW RAKE SUPPORT ANGLE [HW-7712]
(ADJUST POSITION & ORIENTATION AS
REQ'D.)

SCULPTURED RAKE TRIM

12-24 x 1 1/2 PAN HEAD
TEK 4.5 SELF-DRILLER
[FASTENER #16] @ 12” 0.C.

12-24 x 1 1/4 LONG-LIFE TEK 4.5
W/WASHER [FASTENER #78]

HIGH WIND RAKE SLIDE [F215]

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 12 0.C.

OUTSIDE CLOSURE——
WALL PANEL———

SELF—DRILLER W/WASHER
[FASTENER #1E] @ 24" 0.C.

LOW FLOATING CLIP
[HW-220]

DECK SCREW (2) PER CLIP

(MIN. 3/4" PENETRATION
INTO METAL DECK)

BEARING PLATE [HW-7500]

/BATTENLOK HS PANEL

3/8"

2 x 4 x 16 GA. ANGLE

1/4-14 x 1 1/4 SHOULDER
TEK 2 SELF—DRILLER
[FASTENER #5] @ 24" 0.C.
(CENTER I SLOT)

STRUCTURAL ANGLE
(NOT BY MBCI)

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

\R\G\D INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBC)

METAL DECK
(NOT BY MBCI)



0/0 DIMENSION

11/4"
MIN.
TRI-BEAD TAPE SEALER [HW-504]
LOW RAKE SUPPORT ANGLE
[HW-7712] |
I

BOX RAKE TRIM
12-24 x 1 1/2 PAN HEAD
TEK 4.5 SELF-DRILLER \

(SEE PLAN)

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6" O.C.
TRI-BEAD TAPE SEALER

[HW-504]

HIGH WIND PARAPET RAKE

CLEAT [F292]

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E]'@ 24" 0.C.

FIELD CUT & BEND UP 2" PANEL LEG
AS REQD. WHEN ENDING OFF MODULE

LOW FLOATING CLIP
[HW—-220]

DECK SCREW (2) PER CLIP

(MIN. 3/4" PENETRATION
INTO METAL DECK)

BEARING PLATE [HW-7500]
BATTENLOK HS PANEL

[FASTENER #16] @ 12" 0O.C.
12-24 x 1 1/4 LONG-LIFE TEK 4.5

W/WASHER [FASTENER #78] l
1/8 x 3/16 POP R\VET/

[FASTENER #14]
@ 12" 0.C.

CONTINUOUS CLEAT [FL-338]

QUTSIDE CLOSURE
WALL PANEL—————

3/8"

\2 x 4 x 16 GA. ANGLE

1/4-14 x 1 1/4 SHOULDER
TEK 2 SELF-DRILLER
[FASTENER #5] @ 24" 0.C.
(CENTER IN SLOT)

STRUCTURAL ANGLE
(NOT BY MBCI)

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(NOT BY MBCI)



11/7

,_/ FIELD NOTCH PANEL
LEGS AND BEND PAN
TO FORM OPEN HEM

1127
Komm CLEAT
12" S Y7
1 1
11/2°

LOW FLOATING CLIP oo
[HW-220] 0" May,
BEARING PLATE
[HW-7500]

NON-SKINNING BjYL
SEALANT |HW-549
BETWEEN PANEL RIBS

METAL DECK
(NOT BY MBCI)

NOTE: I(JECK syraaw 0 12° 0.
; MIN. 3/4" PENETRATION
REFERENCE TYPICAL TRIM

LAP SECTIONS INTO' NETAL DECK)

a7

OFFSET CLEAT
[FL-337]

VALLEY TRIM

BATTENLOK HS PANEL

VALLEY END

glON—SKI HWGSEQleL
OF PANEL BETWEEN PANEL RIBS

BUTYL SEALANT MUST COME IN
CONTACT WITH THE OFFSET CLEAT
TO FORM A WEATHERTIGHT SEAL

12-14 x 1 PANCAKE HEAD
SELF-DRILLER [FASTENER #124]
@ 12" 0C.

(FASTENER MUST GO

THROUGH TAPE SEALER)

TRI-BEAD TAPE SEALER
[HW-504]

VALLEY SUPPORT PLATE
[P-105]

NOTE:

DO NOT USE THIS DETAIL ON
ROOF SLOPES LESS THAN 3:12
OR IN AREAS W/ SNOW LOADS

10 PSF OR GREATER

/'BATI'ENLOK HS PANEL

RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)

DECK SCREW (2) PER CLIP
(MIN. 3/4" PENETRATION
INTO METAL DECK)



TRIPLE_BEAD

TAPE SEALER

[HW-502]

1/4-14 x 1 1/4 LONG—LIFE
SELF—DRILLER W/WASHER
[FASTENER #1E] @ 3" 0C.
(FASTENER MUST GO
THROUGH TAPE SEALER)

e/
PANEL RIB

BEVELED EDGE

OF ROOF PANEL

DETAIL "A”

METAL DECK
(NOT BY MBCI)

DECK SCREW @ 12" 0.C.
(MIN. 3/4" PENETRATION
INTO METAL DECK)

URETHANE TUBE SEALANT
BETWEEN PANEL RIBS

BATTENLOK HS PANEL:

VALLEY END
OF PANEL

EXTENDED VALLEY TRM
[FL-711]

URETHANE SEALANT

URETHANE SEALANT MUST COME
IN CONTACT WITH TAPE SEALER
TO FORM A WEATHERTIGHT SEAL

1/4-14 x 1 1/4 LONG-LIFE
SELF—DRILLER W/WASHER
[FASTENER f1E] @ 3" O.C.
FASTENER MUST GO

ROUGH TAPE SEALER)

TRIPLE BEAD TAPE SEALER
[HW—502]

BATTENLOK HS PANEL

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

VALLEY SUPPORT PLATE
[P-100]

12-14 x 1 PANCAKE HEAD
SELF-DRILLER [FASTENER #124]
@ 5'-0" 0.C.

RIGID INSULATION

(NoT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)



BattenLok HS / SuperLok Roof - Insulated Concealed Fastener Wall
Flat Eave Trim - Fixed without Eave Plate

“BLI04010

Date

Apr 16

Rev.

02

See Sheeting
Layout

Loose Fill Insulation
or field applied Foam
(Not by Metal

Bldg Mfr.)

0|

v
‘A

Fastener #14A

g” X g”
Pop Rivet
8" 0.C. Max

|

|

|

|

|

Flat Eave Trim |
(See Chart) |
|

|

|

|

|

Insulated Concealed
Fastener Wall Panel

~

'rz’fxz’xixixiiiiﬁii 8

EERTTITIRI R T

| R

Tube Sealant HW54_ between
vertical ribs of panel in line
with Tri—Bead Tape Sealer
HW504

Fastener #1E

3-14 x 13" LL SD W/Washer
(5) Per 16" Panel
(4) Per 12" Panel

Tri—Bead Tape Sealer
HW504

Fastener #14A
19 3”

8 X 8
Pop Rivet

10’-0" O.C.

Non—Skinning Butyl Tube
(Vapor Sealant) IMP7100

3" Bead

% See ICFO300_ for

Panel Clip Application

Panel
Wall Panel | Flat Eave Thickness
Thickness Trim
2" — 2% F3620
37— 47 F3622
5" — 6" F3624

Flute Closure Strip
IMP7607

(Fluted Panel only)
Eave Strut

Perimeter Flashing
Sealant Tape IMP7405
(Not required with Fluted
Wall Panel)




Page
BattenLok HS / SuperLok Roof - Horizontal Insulated Concealed Fastener Wall BL102210
Standard Gutter - Fixed Without Eave Plate Date Rev
May '16| 03

Fastener #4 BattenLok HS Panel
1-14 x ¥ LL SD
W/Washer Both Sides

: ’ SuperLok Panel
Of High Rib

Gutter Support —==

Fastener #4

314 x § LL SD
W/Washer At

1"-0" 0.C.

Fastener #4

314 x §" LL SD
W/Washer Both Sides
Of High Rib

End View Of Gutter Support

See Sheeting
Layout

Gutter Support
F700 <= 1:12
F551 > 1:12
At Every Other
Panel Seam —t—

Fastener #4 ‘\‘

Urethane Sealant HW54_

Between Vertical Ribs

Of

Panel In Line With Tri—Bead

Tape Seadler HW504

Fastener #1E

3-14 x 14" LL SD
W/Washer

(5) Per 16" Panel
(4) Per 12" Panel

Fastener #14A
8" x 8" Pop Rivet SS
At 10’-0" 0.C.

314 x § LL SD
W/Washer (1) Per Conn. -

Loose Fill Insulation
Or Field Applied Foam

(Not By Metal Bldg. Mfr.)

Low Side Eave Trim
(See Chart)

At 8" 0.C. Max.
Sealant Tape IMP7300

=

Insulated Horizontal Concealed
Fastener Wall Panel

Panel Eave (Field Cut As Req'd.)
Thickness Trim
» Panel o
2 " 3620 Thickness T
21/2 F3620
3 F3622

” F3622

4
5 F3624
6" F3624

|

|

|

|

|

:

1 |

i And 2'-0" 0.C. Max.

Standard Gutter Fastener #14A Hfn Between Supports
F3903 1n 3 . e
g x § Pop Rivet SS : ol Eave Strut

|

|

|

|

|

|

|

|

|

Tri-Bead Sedler %" x
HW504

Z:r
8

Urethane Sealant HW54_

Continuous &' Bead

Thru Panel Flat Head SD

W/0 Washer At Each

Vertical Support Location




BattenLok HS / SuperLok Roof - Insulated Concealed Fastener Wall

“BLI02016

Northern Standard Gutter - Fixed with Low or High Eave Plate  |ifay 16[ 05

Fastener #4
1-14 x &

LL SD W/Washer
Both sides of
High Rib

Gutter Support

Fastener #4
}-14 x §°

LL SD W/Washer
1’=0 0.C.

Fastener #4

3-14 x §°

LL SD W/Washer

Both sides of High Rib

(1) Fastener #4

3-14 x §°

LL SD W/Washer

Gutter Support
F700 <= 1:12
F551 > 1:12
At Every Other
Panel Seam

Loose Fill Insulation
or field applied Foam
(Not by Metal

Bldg Mfr.)

Standard Gutter
F3903

Fastener #14A
19 3”

8 X 8

Pop Rivet

8" 0.C. Max

Flat Eave Trim
(See Chart)

Insulated Concealed
Fastener Wall Panel

Wall Panel |Flat Eave
Thickness Trim
2" — 24" F3620
37— 4" F3622
5" — 6" F3624

BattenLok HS
Panel

SuperlLok
Panel

End View

See Sheeting
Layout

1%

Tube Sealant HW54_ between
vertical ribs of panel in line
with Tri—Bead Tape Sealer
HW504

Fastener #1E

3-14 x 13" LL SD W/Washer
(5) Per 16" Panel

(4) Per 12" Panel

Tri—Bead Tape Sealer
HW504

Fastener #14A
%n X gn

Pop Rivet
10'=0" 0O.C.

Fastener #1
-14 x 1"
1’—0 0.C.

Fixed Eave Plate

Low — HW7600

High — HW7616 (shown)

Non—Skinning Butyl Tube
(Vapor Sealant) IMP7100

2" Bead

See ICFO300_ for
Panel Clip Application

Panel
Thickness

Flute Closure Strip
IMP7607

(Fluted Panel only)
Eave Strut

Perimeter Flashing
Sealant Tape IMP7405
(Not required with Fluted
Wall Panel)




BattenLok HS / SuperLok Roof - Insulated Concealed Fastener Wall
Northern Standard Gutter - Floating with Low or High Eave Plate

“BLI03013

Date

May 16

Rev.

05

Fastener #4
-14 x §

LL SD W/Washer
Both sides of
High Rib

Gutter Support

Fastener #4
3-14 x &

LL SD W/Washer
1’—0 0.C.

(1) Fastener #4

—14 x §"

LL SD W/Washer

Both sides of High Rib

(1) Fastener #4
1-14 x §
LL SD W/Washer

Gutter Support
F700 <= 1:12
F551 > 1:12
At Every Other
Panel Seam

Loose Fill Insulation
or field applied Foam
(Not by Metal

Bldg Mfr.)

Standard Gutter
F3903

Fastener #14A
gn X %n

Pop Rivet

8" 0.C. Max

Floating Eave Trim
(See Chart)

Insulated Concealed
Fastener Wall Panel

Wall Panel Floating
Thickness | Eave Trim
2" — 2¥” F3630
3" — 47 F3632
5" — 6" F3634

BattenLok HS
Panel

SuperlLok
W Panel

End View

See Sheeting
Layout

(A

W

=

]

RO

/e
)

44

N
‘ Q

AR

CRETTTTTIT R

.

Tube Sealant HW54_ between
vertical ribs of panel in line
with Tri—Bead Tape Sealer
HW504

Fastener #1E

3-14 x 13" LL SD W/Washer
(5) Per 16" Panel

(4) Per 127 Panel

Tri—Bead Tape Sealer
HW504

Fastener #14A

1:: ;n

8 X 8

Pop Rivet

10'-0" 0.C.

Fastener #5
%,,_14 X ,Izn
12" 0.C.

Floating Eave Plate
Low — HW7617

High — HW7618 (SHOWN)

Non—Skinning Butyl Tube
(Vapor Sealant) IMP7100

2" Bead

See ICFO300_ for
Panel Clip Application

J

Panel

Thickness

Flute Closure Strip
IMP7607

(Fluted Panel only)
Eave Strut

Perimeter Flashing
Sealant Tape IMP7405
(Not required with Fluted
Wall Panel)




BattenLok HS / SuperLok Roof - Horizontal Insulated Concealed Fastener Walll Page
BLI03201
Southern Standard and Southern Large Gutter Sate ==
Floating With Low Or High Eave Plate May '14| 01

Gutter Strap
F246 — Standard
F289 — Large

Gutter Strap
F246 — Standard Shown

Fastener #1E
314 x 1" LL D
W/Washer (2) Per Conn.

/ SuperLok Panel

End View Of Gutter Strap

See Detail ‘A’ For Strap
F289 — Large

(See Sheeting

Layout For Spacing)

Fastener #4

=14 x £ LL SD
W/Washer (3) Per
Gutter Strap

Eave Gutter
F3420 — Standard Shown
F4202 — Large

Fastener #4
3-14 x £ LL SD
W/Washer At 1'-0" O.C.

Loose Fill Insulation
Or Field Applied Foam
(Not By Metal Bldg. Mfr.)

Floating Eave Trim
(See Chart)

Fastener #4
3-14 x § LL SD

W/Washer At

Sealant Tape IMP7300

Insulated Horizontal Concedled ——————
Fastener Wall Panel

(Field Cut As Req'd.)

Wall Floating

Panel Eave
Thickness Trim

2" F3630

21/2" | F3630

3 F3632

4" F3632

5 F3634

6" F3634

(SuperLok Only)

See Sheeting
quout

Urethane Sealant HW54_
Between Vertical Ribs Of
Panel In Line With Tri—Bead
Tape Sealer HW504

Fastener #1E
14 x 13" LL D
W/Washer

(5) Per 16" Panel
(4) Per 12" Panel

Fastener #14A
§" x &’ Pop Rivet SS
At 10'-0" O.C.

—_—
S
—_—

-

{

8" 0.C.

Panel
Thickness

Y

Eave Gutter
F4202

;” mmh 1-14 x 14" Shoulder SD
AHHH W/0 Washer At 1'-0" O.C.
Hiln Tri-Bead Sealant " x §
Hr HW504
1|1 Urethane Sealant HW54_
R Continuous & Bead
i MTNU Panel SD W/

Floating Eave Plate
Low — HW7617
High — HW7618 (Shown)

Fastener #5

Washer At Each Vertical
Support Location And At
2’-0" 0.C. Max. Between
Supports

Eave Strut

Gutter Strap
F289

Detail "A’
Fastener Location With
Gutter Strap F289




BL HS / SL Roof - Insulated Concealed Fastener Wall queBLIOGOOS
Southern Standard and Southern Large Rake Trim May '16/ 0

Date Re

Loose Fill Insulation
or field applied Foam
(Not by Metal Bldg Mfr.)

Rake Trim
(See Chart)

Rake Slide
F215

Fastener #4

Tri—Bead
Tape Sealer
HW504

Fastener #1E

3-14 x 13" LL SD W/Washer
at 2’-0 0.C.

/— Roof Panel

Rake Support
Low — HW7712
High — HW7722

~~— Purlin

Fastener #12A
12 x 1”7 P.H.
at each Purlin

Fastener #5
111_14 X 1%11
at 24" O.C.

Non—Skinning Butyl Tube
(Vapor Sealant) IMP7100

3" Bead

Rake Angle RA1
L 4" x 2" x 16Ga

3-14 x §’ LL SD W/Washer
8" 0.C See ICF0O300_ for
Panel Clip Application
Insulated Concealed .
Fastener Wall Panel B Flute Closure Strip
IMP7607
(Fluted Panel only)
Panel Perimeter Flashing

Thickness Sealant Tape IMP7405
(Not required with Fluted
Wall Panel)

Wall Panel | Standard Large

Thickness | Peak Box [ Peak Box
2" F3950 F3956
23" F3951 F3957
37 F3952 F3958
4” F3953 F3959
5” F3954 F3960
6” F3955 F3961




BattenLok HS / SuperLok Roof - Insulated Concealed Fastener Wall

“BLI0601

] . " " . Date Rev.
Full Width Panel or Field Cut and Bent to Width Panel at Termination| Apr '16
Rake Support Angle
Low — HW7712 . " "
High — HW7722 Field Measurement = 8" to 14, |
cake Tri 12" or 16”
ake Trim
Tri—Bead Tape Unseamed
(See Chart) Sealer HW504 BattenLok HS
Fastener #1E shown
3-14 x 1} LL SD W/Washer
2'-0 O.C.
~
Terminating Roof Panel
(See Modification Details) Roof Panel

Loose Fill Insulation
or field applied Foam
(Not by Metal

Bldg Mfr.)

Non—Skinning Butyl
Tube (Vapor Sealant)
IMP7100 8" Bead

See ICFO300_ for
Panel Clip Application

Insulated Concealed
Fastener Wall Panel

7

Roof Purlin

Fastener #5
%11_14 X ,Izn
24" 0.C.

\ Rake Angle RAT

L 4" x 27 x 16Ca

\

Panel Clip
(2) Clip Screws

Field Cut
Field Bend Line

Panel
Thickness
Wall Panel Std. Std. Large
Thickness | Peak Box | Peak Box
2" F3950 F3956
245" F3951 F3957
3" F3952 F3958
47 F3953 F3959
5" F3954 F3960
6" F3955 F3961

Panel Field Modifications

81" to 14"

Field Cut top leg
of Panel Rib

Panel Field Modifications

12” or 16”




Page
BattenLok HS / SuperLok Roof - Horizontal Insulated Concealed Fastener Wall Panel BLI06205

Southern Standard And Southern Large Rake Trim Date Rev
May '16|] 01

Fastener #1E

314 x 1" LL SD
W/Washer At 2’0" 0.C.
Fastener #5

3-14 x 1" Shoulder SD
W/0 Washer At 2'-0" 0.C.

Rake Support Angle

HW7712 — Low Roof Panel
HW7722 — High /

; ! ~— Fastener #12A

e 12 x 1” Pancake Head
SD W/O Washer At Each
Purlin

Urethane Sealant HW54_
Continuous 3" Bead

Tri-Bead Sealant %" x §”
HW504

Rake Trim (See Chart) —==

Loose Fill Insulation
Or Field Applied Foam

(Not By Metal Bldg. Mfr.)

Thru Panel Flat Head SD
W/0 Washer At Each
Vertical Support Location
And At 2'=0" 0.C. Max.
Between Supports

I
Rake Slide Trim F215 ' I:

[N \
[N
Frfn Zee Purlin

Fastener #4

3-14 x § LL SD W/Washer
At 8” 0.C.

Insulated Horizontal Concealed ————=
Fastener Wall Panel
(Field Cut As Req'd.)

Panel
—_———

Thickness

F\’Aéon”el Standard Large
Thickness Rake Trim | Rake Trim
2" F3950 F3956
21/2" F3951 F3957
3 F3952 F3958
4" F3953 F3959
5 F3954 F3960
6” F3955 F3961




BattenLok HS / SuperLok Roof - Insulated Concealed Fastener Wall
Below Eave Tie-In - Common Wall - Low Clip

“"BL108001

Date

Apr 16

Rev.

03

Concealed Fastener
Wall Panel

Pigtail with panel
sidelap sealant
Angle Trim F3369
with Fastener #14
¥ x #%" Pop Rivet
12" 0.C.

d

3

AT A

’ll‘-mm
¢l
W

/
it
I

oo \
\
A}

L

—ko

Fastener #4

3-14 x § LL SD W/Washer
(3) per panel

See GBLO1010 for spacing

Parapet High Eave

Trim (See Chart)

Min. 2” Lap With (2) ¥”
Beads Urethane Sedlant
HW54_

Outside Metal Closure
HW440 — 16" panel

HW446 — 12" panel
Tri—Bead Tape Sealant
HW504 top and

bottom
~~~~~~~~~~~~~~ \_—_—_— ===
|
. |
o = —
—— i

Panel Clip with Clip Screws
(2) 314 x _

Fastener #17 /

12—=14 x 17
(5) per 16" panel
(4) per 127 panel

\_-—l

<

Panel

12

12

5—

Fastener #12A

x 17 P.H. DP3
0” 0.C.

Fastener #12A

x 1" P.H. DP3

SA9 to RA1 12" O.C.

Support Angle SA9

L 13" x 23" x 14 Ga.

Thickness

—)

o gy

\

N
"

See ICFO300_ for
Panel Clip Application
Fastener #17

12—14 x 17

12" 0.C.

Sheeting Angle RA1
L 2° x 4" x 16 Ga.

N

8/
‘ Girt

—— T
- _—‘| ‘7‘ 1 11 L \
| | S Non—Skinning Butyl Tube
— = o (Vapor Sealant) IMP7100
““ - *:\ :: 2" Bead (5 Locations)
2 0 See ICFO300_ for
:: ::\ Panel Clip Application
RN
Ll Back Up Plate
Note: :: :: HW7766 — 16” panel
Roof Insulation i HW7764 — 127 panel
(Not by Metal Lyl
Bldg. Mfr.) Is Not
Shown For Clarity
Parapet High Eave Trim
Wall Panel Thickness
Roof Slope 2» 2%» 399 4,, 5n 6”
thru 4:12 F3770 | F3771 |F3773 | F3774 | F3775 | F3776
Parametric F3513




BattenLok HS / SuperLok Roof - Insulated Concealed Fastener Wall
Below Eave Tie-In - Common Wall - High Clip

“BLI08003

Date

Apr 16

Rev.

03

sidelap sealant

Angle Trim F3369

with Fastener #14
" x 13" Pop Rivet

12" 0.C.

T

i

F)N-‘?’m \
\
A}

Concealed Fastener
Wall Panel 1
Pigtail with pone|\//
/

Fastener #4

LL SD W/Washer
(3) per panel
See GBLO1010 for spacing

1-14 x §

Parapet High Eave
Trim (See Chart)

Min. 2" Lap With (2) #”
Beads Urethane Sealant
HW54 _

Outside Metal Closure
HW440 — 16" panel
HW446 — 12" panel
Tri—Bead Tape Sealant

HW504 top and
bottom

" X

Panel

Fastener #12A
12 x 17 P.H. DP3
5'—0" 0.C.

Fastener #12A
12 x 1" P.H. DP3
SA9 to RA1 12" O.C.

Support Angle SAS
L 14" x 23" x 14 Ga.

v—‘E -
—_—

Panel Clip with Clip Screws
(2) 314 x _

Fastener #17
12—14 x 1"

(5) per 16" panel
(4) per 12" panel

N——

Thickness

See ICFO300_ for
Panel Clip Application

\\ M Fastener #17
X 12—14 x 17
\//’H ) 12” 0.C.
K N Sheeting Angle RA1
/! ‘ L 2" x 4" x 16 Ga.
2" I '
| [ e
L
L T
__ Tl LA :
" © _ ] ,"/ \ Girt
‘ N Non—Skinning Butyl Tube
SN (Vapor Sealant) IMP7100
A" , \\II\IL \ 3" Bead (5 Locations)
200 See ICFO300_ for
I ||\Ponel Clip Application
RN
RN Back Up Plate
Note: :: :: HW7766 — 16" panel
Roof Insulation Ol HW7764 — 12" panel
(Not by Metal Lyl
Bldg. Mfr.) Is Not
Shown For Clarity
Parapet High Eave Trim
Wall Panel Thickness
Roof Slope 2» 2%» 399 4,, 5n 6”
thru 4:12 F3770 | F3771 |F3773 |F3774 |F3775 | F3776
Parametric F3513




BattenLok HS / SuperLok Roof - Insulated Concealed Fastener Wall

“BLI10006

Flat Eave Trim - Fixed with and without Eave Plate at Hip Condition Kepr 16

Rev.

02

Fastener #4

1-14 x " LL SD W/Washer
at 4" O.C.

Tri—Bead Tape
Sealer HW504

"Z7” Closure F361

Tri—Bead Tape
Sealer HW504

Loose Fill Insulation
or field applied Foam
(Not by Metal Bldg Mfr.)

Fastener #14A

%n X gn
Pop Rivet
8” 0.C. Max

Flat Eave Trim
(See Chart)

Insulated Concealed
Fastener Wall Panel

Field work Hip Flashing
to form the tabs for

end closure, pop rivet
and caulk as required.

Match
Overhang

Fastener #1E
3-14 x

Fixed Eave Plate
HW7616 — High (Shown)
HW7600 — Low

Hip Trim

Support Angle

’I’i' Roof Panel—~__

“|

o \\\\ AT \\m\\m\mr‘

BT L T W

Flat Eave Trim
(See Chart)

Wall Panel |Flat Eave
Thickness Trim
2" — 2% F3620
37— 47 F3622
5" — 6" F3624

Hip

| |
Panel

/( |
Thickness

Hip with Eave Plate

[Eave Plate Shape May Vary|

Roof Pcne\-—\

|

Hip Plate P141

Fastener #1
y'-14 x 17 at 12” 0O.C.

Non—Skinning Butyl Tube
(Vapor Sealant) IMP7100

3" Bead
Eave Strut

See ICFO300_ for
Panel Clip Application

Flute Closure Strip
IMP7607

(Fluted Panel only)

Perimeter Flashing
Sealant Tape IMP7405
(Not required with Fluted
Wall Panel)

Panel
Thickness

without Eave Plate

Eave Strut

14” LL SD W/Washer




BattenLok HS / SuperLok “GBL12005

Date Rev.

Rigid Board Insulation at Eave Feb '16| 06

Fastener #1E
3-14 x 1§

LL SD W/Washer
5 per 16" panel
4 per 12" panel

Rigid Board

Tri-Bead Tape
Insulation

Sealant HW504

Fastener #4
3-14 x £ LL SD W/Washer

Sidewall Flashing \,§ vy

Gutter Strap % %
attached with (3)

x Fastener #4 }-14 x §
Pi Mark 1 70 Fastener 44 LL SD W/Washer
Tri Ba— Std +=14 x g LLSD W,/WOSher (See Sheeting Layout for
Prgme Std Lg at 1-0 0.C Spacing)
Cascading | F1305 | F1335 Fastener #4 Eave Adapter (RBZ)

Classic F730 F4120 |1-14 x §" LL SD W/Washer
Contoured | F2005 F2035

Signature | F10 F3820
% Eave Gutter
(See Erection
Jadal Dwgs For
Piece Mark Piece Mark)
Trim Std pil Fastener #1E
Profile Std Lg : 114 x 13"
Cascading | F246 F289 I LL SD W/Washer
Classic F246 F289 , i 1’—0 O.C.
Contoured | F246 F289 Optional™ Outside | /
Signature | F246 F289 Panel Closure l_
(See GD06002)
SECTION A-A

Flashing profile may vary dependent upon project order.
Attachment as illustrated are applicable for all profiles.

A VAPOR RETARDER MAY BE NECESSARY TO PROTECT ROOFING
COMPONENTS WHEN HIGH INTERIOR HUMIDITY IS A FACTOR. THE NEED FOR
A VAPOR RETARDER, AS WELL AS THE TYPE, PLACEMENT, AND LOCATION
SHOULD BE DETERMINED BY AN ARCHITECT OR MECHANICAL ENGINEER.




	BLHS-DW-ESJ-01A-V1
	BLHS-DW-ESJ-02B-V1
	BLHS-DW-EV-01A-V1
	BLHS-DW-EVG-02B-V1
	BLHS-DW-HEV-02-V1
	BLHS-DW-HEV-03-V1
	BLHS-DW-HEVP-01B-V1
	BLHS-DW-HEVP-02A-V1
	BLHS-DW-HEVP-03B-V1
	BLHS-DW-HEVP-04A-V1
	BLHS-DW-HP2-01F-V1
	BLHS-DW-HP2-02C-V1
	BLHS-DW-RG2-01C-V1
	BLHS-DW-RG2-02B-V1
	BLHS-DW-RG2-03B-V1
	BLHS-DW-RG2-03C-V1
	BLHS-DW-RK-01E-V0
	BLHS-DW-RK-02C-V1
	BLHS-DW-VL-02F-V1
	BLHS-DW-VLE-02-V1
	BL-SL eave
	BL-SL gutter
	BL-SL
	BLI02016-05.pdf
	BLI03013-05.pdf
	BLI03201-01.pdf
	BLI06005-03.pdf
	BLI06010-02.pdf
	BLI06205-01.pdf
	BLI08001-03.pdf
	BLI08003-03.pdf
	BLI10006-02.pdf

	Bl-sleave

